Circle the correct option.

1) Kourtney Brown doesn’t drive to work because she

a) has a regular work day c) wakes up late
b) works for about 8 hours d) works at home
2) Which one does not belong to Kourtney’s home office?
a) bookcase b) rug ¢) sofa d) bookend

3) Where is Kourtney’s computer?

a) in the centre of her desk c¢) between the bookends on the shelf
b) on the low table d) in one of the drawers

4) Which one is true according to the text?

a) Her home office is clean, but it isn’t cosy and inspiring.

b) There are many productive rooms in her house.

c¢) She has all the equipment of a regular office in that room.
d) There isn’t any paper left in the drawer.

Write T (true) or F (false) next to each statement.

a) Kourtney drives back home after working 8 hours.
b) There are some magazines on thesofa. ...
c) She can concentrate on her work in her home office.  ..........
d) There is only a comfortable sofa tositon. =~ ...
e) Her home office makes Kourtney comfortable. ...
f) Storage drawers in her home office areempty. ...
g) Kourtney likes the bookcase and bookends. ...
h) The cosy and inspiring room is her perfect place to work.  ..........
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